ol
0

‘ol

@ -19 3 -18 @ -17 ®B —-16

D =20



2.

o)A A 242 4 6x -

Fafolet.

ge
»

z
rd
N

fijo



29

ol

(x+y)(x+y-6)—16 =02 o, x+y o] gH52]

3.

o 7 B 8 @ 9 ® 10

D 6



OJZHYA A 3x? + px+q =0 & F 2Ol

2 -
x=-3 Eex=3<4 M, p+gq 2 g= FoHH?

D -13 ® -1 3 0 @ 1



gt

o)A A 2x2 —5x+1 =09 F 2o Fo] —x2 +ax+5=0 9

5.

ot

<]



th2 13} Zo] AD: AB = 3: 2 2l A} A D2em
714 ABCD 9] 7t2e} Al22] Zolg BF n
2cm A 591 A AEFG 2] Hol= A
A2t ABCD 9] Hjo] <] 2 il A}, o] ZB C
AD 9] do =9 e
o, o] 4o]j N T
@D 8cm @ 7cm 3 6cm @ 5cm B 4cm



